IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE ODOOR OPENING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES:
1)} THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TC THE SUPPORTING STRUCTURE TO
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED
DIRECTLY 7O THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EGGES FOR A 5/16" LAG SCREW.
2}IF THE WALLBOARD 1S NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE
INSTALLED THE WALLBOARD FRAMING THE GOPENING USING THE JAME ATTACHMENT

FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF
A SUFFICIENT INCREASED LENGTH TO ACCOUNY FOR THE THICKNESS OF THE
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL

FRAMING MEMBERS OF THE SUPPORTING STRUCTURE.

n

T

S

{

PREPARATIGON QF JAMBS BY QTHERS,
NT (Wi FRAM

|~1/2" FROM EDGE

I

ey

WOOD LAG SCREW PER BRACKET.

EACH BRACKET ATTACHED WITH ONE

3/8"3” LAG SCREWS ON 24" CENTERS, 1-1/8" 0.b. WASHER REQUIRED. LAG SCREWS
MAY BE COUNTERSUNK {BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

g —
3/87x3" SLEEVE ANCHOR BOLTS ON 20" CENTERS (2,000 PSI MiN, CONCRETE).

WASHERS INCLUDED WITH SLEEVE ANCHORS.

OR
1/4"x3" TAPCON SCREWS ON 17" CENTERS (2,000 PSi MIN. CONCRETE) OR 9"

CENTERS (C—90 BLOCK), t"

0.0, WASHERS REQUIRED WITH TAPCONS,

ANCHORS MAY BE COUNTERSUNK (BUT NOY REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

OTHER JAME. CONFIGURATIONS: REFER TO DASMA TDS—161.

A LICENSED

DESIGN

PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR

JAMB CONFIGURATIONS.

2%6 YELLOW PINE JAMB—/

(.’.’. L s
e o e e

e,
R e e e e e e e e T

12 GA. GALY, STEEL TRACK
BRACKET FASTENED TO WOOD
JAMB WITH ONE 5/16"x1-5/8"

2" GALV. STEEL TRACK
FASTENED TO TRACK BRACKEYS.

/478 /8" BOLT & NUT OR
TWO 1/4" RIVETS.

JAMB CONFIGURATION
SECTION ¢—-C

NOQTE: THE DESIGN OF THE

ATTACHED WITH (4) #14x5/8"
SHEET METAL SCREWS,

ALUMINUM EXTRUSION
& VINYL WEATHERSYRIP,

SICP MOULDING BY DOOR
INSTALLER (TO SUIT)

18 GA, GALV. STEEL EMND STIE

/_(END STILES HELD BY HINGE SCREWS)
1l |

7"

SHEET METAL SCREWS.

10 BALL SHORT STEM STEEL ROLLER WiTH

STEEL OR NYLON TIRE.

SUPPORTING STRUCTURAL ELEMENTS

SHALL BE THE RESPONSIBILITY O
THE PROFESSICNAL OF RECORD

F
FOR

THE BUKDING OR STRUCTURE AND

IN ACCORDANCE WITH CURRENT

BUILDING CCDES FOR THE LOADS

USTED ON THE DRAWING.

18 GA. GALV. HINGE. EACH HINGE
FASTENED TO SKiN WITH (4) #14x5/8"

14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED TC
END STILES WiTH (4) #14x5/8" SHEET METAL SCREWS AND
(4) 1/4"x3/4" SELF TAPPING SCREWS. SEE VIEW "B

13 GA. GALV. STEEL B0TTOM BRACKET,

NOS ARE SIGHED Y& RLUE
INK WH A RNSE!) SEAL (EMBOSS),

1

FLORIDA. P.E. #46495,
NC P.E. #23832,
TEXAS P.E. #91513

DESIGN ENGINEER: MARK WESTERFIELD, P.E.

BGOORS OVER 8 TALL

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO suw)\i

MODELS |24 GA SHORT| 27 GA SHORT {27 GA FLUSHI 27 GA LONG | pooo werouT SE%T?{F}NS Omﬁ%“cgmm_ o0 /ES@E &aé’ls s g0 REV BATE DESCRIPTION
CLOPAY 4400, 4401 4300, HDG 4301, HDGF | 4310, HOGL prrmeres ry D6 b, STE INTO_veRTICA, 7 | 6/2005 UPDATED CODE REF,
HOLMES - 66, 666, 6200 | 68, 6201 [67, 676G, o3| 73" TO 840 ] Lo qursoe 8 | 8/2005 ADDED ROLLER OPTION
ToEAL SPese P SE00 gé" :Dmf(‘}: 2 QUTSIDE, KETeD — ?,;Eﬁ OF 0GR 9 11/30/07 ADDED EXTENDED HEIGHTS AND COMBINED CLOPAY AND HCLMES M/N
- g 5 SIOE,_SUGE BOLT
T T T v L e e LooK GeTion %&:}a 10| 05/12/08 |ADDED MPC INFO AND HOGF, 66G, 67G
EQUIVALENT SECTION CONSTRUCTION: FOR ANY OF THE MODELS LISTED = e QIShe NEED LOOK, " QUTSIDE KEYED 160K
ON THIS DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUIVALENT ff,g, f.g }g.g, 2 2 TSHI'SEONE FILLED CHANNEL SEPARATES Lodk iR Locdle - Dot e 11} 10/2009 REVISED FOR TOL
SECTIONS (UF’ TC THE MAXIMUM WIDTH ALLGWED ON THIS DRAWING). 1670° 10 FRONT AND BACK SKIN OF DDOR
W1, W4, VAY SECTION HEIGHT: 817
CEJEE’Z JHTESEE &_DLE;EE MAY BE SHOWN ON THE OPTIONAL SHIPPING 27 GA. MiN. STEEL 165" THCK, 1§ DENSTY
) EXTERIOR SKIN WITH 3 4 14x8 /8" SHEET
3?1“’2?%5 ﬁ§B4gR1B§TE§~GL§§NG' G40 GALVANIZING, %’i&” ?f@u&?géwtigﬁmﬁn PﬁET;L/SCREWS
; 12 BAKED-ON PRIMER TG BOTH EXTERIOR AND
SECTION B—B). SHORY LITES SHOWN. AND A BAKED—ON INTERIOR SKINS,
8 POLYESTER PAINTED o .
T o TOP COAT. 1/4"x3/4" SELF
wwwwwwww FEEae e e e e ool T1APPING SCREWS
! i . Hip | 12 GA. GALV. STEEL TOP
l# ”IEI# "l lﬂ ”‘l l,; ”I |#|*”|E g "li!/ ”li'” # ROLLER BRACKET, EACH \9/
. ) ) e : il BRACKET ATTACHED W/(4
? = SEE INTERMEDIATE #14x5,/8" SHEET METAL 14 _GA, END HINGES A, INTERMED!
© [ T 1 v HEE . TS D HEIREHJ— -HINGE. DETAIL SUREWS: MEW 8 e
- 3 t
u i 4 Uil A B T o : TONGUE AND GROOVE JOINTS. {OTE: 14 CA. INTERMEDIATE
T b FE e L SKiN DOOR MODELS.
= SErEGENz?m | 14 GA. GALY. STEEL ROLLER (END} HINGE. )
2 if I T Ty EEH Ik tH iy ; INGE DETAIL EACH FASTENED TO END STILES W/(4)
& il i i T Y i A T ! 14x5/8" SHEET METAL SCREWS AND
- [ — I 1 T | p Y114 Yy dUzzoooslit ] oy ] } 4) 1/4'x3/4 SELF TAPPING SCREWS.
THE OFTIOMAL GLAZING SHOWN ON THIS DRAWING MEETS THE
e e T T Secton a-» BRI S o Sl St
1 1 H L -
; i i Eii I HEH R N HEREH jiey i WO POINT LOCKING 10N IMPACT RESISTANT REQUIREMENT FOR WINDSORNE DEBRIS
g i L1 e IR 1311 = HI 4133 MY A LOCK POSITION FRONT FRAME WiTH UV, REGIONS (REF. CHAPTER 16 FBG/IBC)
J : P | ity ‘ (BOYH SIDES} COATING ON QUTSIDE SURFACE.
] T y st ; : 3" x 20 GA. GALV. STEEL U—BAR, ONE TS DODR MEETS OR EXCEEDS THE DESIGN
| HRE Hi ey Ty e T i ! PER SECTION, EXCEPT BOTTOM SECTION 3 LOADS FOR THE WIND SPEEDS LISTED BELOW
: R SN Hih gl HIHY i [ i WHICH REQUIRES TWO Uw BARS U—BARS it G ACCORDING ‘TO THE FLORIDA BLDG. CODE
i ; ! ! i ATTACHED W/(Z) 1/4"x3/4" SELF -1 OR 1BC (ASCE7) FOR THE FOLLOWING
: ; _ TAPPING SCREWS PER’ HINGE i..GCA"nON H | CONDITIONS: " 1)’ ENCLOSED BUILDING, 2) DOOR
—7 : — . HAS 2’ OF WIDTH IN BUILDING'S END ZONE
CPTONAL UTSIDE earel (SHORT PANEL SHOWN) 27 GA. STEEL INTERIOR GALV. i | 3) INPORTANCE EACTOR OF 1.0, 4) ANY
y OTH = 16'—0" SKIN WITH A BAKED—ON PRIMER B SLOPE GND B S0k SACETY PACTOR.
| MAX, DOOR WIDTH = 16-0 ! AND A BAKED-ON POLYESTER GLAZING
INSIDE_ELEVATION PAINTED TOP COAT. WIND SPEED (MPH) s%OG 1%0 116 120
. MOLOED INSIDE _ yoxt 374" pa EXPOSURE LEVEL (B or¢| B| C1 B8
- OPTIONAL WINDOW UTE HEAD SCREW. MEAN ROOF HEIGHT! 30° | 30° | 17| 20

1HR TOP BRACKET
o DOUBLE HORIZONTAL
NEIE; TRACK CONFIGURATION TRACK

ABGVE THE DOOR OPENING
DOES NOT AFFECT THE WIND
LOAD RATING OF THIS DOOR.

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (10 sun')\{

TALL DGORS AND LINDER

13 GA. GALY, STEEL FLAG BRACKET,

EACH FASTENED TO WOOD JAMB WITH 13 GA. GALY. STEEL FLAG BRACKET,
(3} 5/16"¢1-5/8" LAG SCREWS. EACH FASTENED TG WOOD JAMB WITH
2° GALYV, STEEL TRAGK, (3) 5/16™1-5/8" WOOD LAG SCREWS.
= 1y /’TRACK THICKNESS: 060" MIN. £
] MaX 2-1/2"212 GA, GALY, STEEL, TRACK BRACKET. &
SEE VIEW "C". W Es; TRACK BRACKETS PER SIDE EUP 10 10 HIGH; ¥
' _~(6) TRACK BRACKETS PER SIDE (UP 70 12' HIGH). o/
& oL DISTANCE SETWEEN FLAG AND TOP TRACK BRACKET G L
2 1 NOT TO EXCEED 30" 0.C. < 1
" 40 008 | -, - ] 2" GALY. STEEL, TRACK,
F HEiGHT| - MIN. TRACK THICKNESS: .060"
b ger | 95 =
1) Iy A £060° ] (%3 v
[} P - Fe + i L1
o i o i A TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
2 . Mot | L0 IOTE; FOR DOORS OVER 2 -2 - .
g e 0 LI 0 0" HIGH, TRACK = (4) ¥RACK BRAGKETS PER SIDE.
& e 56T JCONFIGURATION SHALL ROT &
=3 ] TEer TR EXCEED MAXIMUM SPACING  © i
- 3-1/2* [ 1301 1487 IPROVIDED. CONSULT FACTORY &
W ﬂ:j[ 1367154 1e0R MORE DEVAIL IF RQD. %1
L T
ok e vl
56§ 172 TRA W
e EADROOM AvAl DESIGN LOADS: +25.5 PSF & —25.5 PSF
S _IRACK AVAIABIE AS TEST LOADS: +38.0 PSF & =38.0 PSF
Mr\ngACTUglgTEPmiD;Cf?CfDE WINDLDAD RATING | MAX, SIZEs
N i 16,0” X 15)0“
DATE
¢ 6/14/95 DESCRIPTICN  WINDLOAD MODELS
Building Products pacon o 45040 [ToAm B1 o 4400, 4401, 4310, HOG, HDGL, 4300, 4301
— RAWING NiM VER
Company (813) 770—-4800 T B PRAWING NUMBER) =
Clopay Corporation All Rights Reserved. 101481 Ot






